BID TABULATION											
243 E. N	SON PERRY & ASSOCIATES, INC. MAIN STREET, SUITE C STON, OREGON 97838	PROJECT:	ovements		OWNER:	City of Hermiston, Oregon 180 N.E. 2nd Street Hermiston, Oregon 97838					
	ning: November 29, 2022, at 11:00 a.m., at C	ity of H	ermiston				BIDD	ERS		, - · ·	
City Hal	I, 180 N.E. 2nd Street, Hermiston, Oregon 978	338		Engineer's	s Estimate	Rotsch	ny, Inc.	Tapar	ni, Inc.	Goodman & Mehlenbacher Enterprises, Inc.	
Item	Description	Unit	Amount	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
	Mobilization/Demobilization (not to exceed 5% of Total Bid Price)	L.S.	1	\$140,000.00	\$140,000.00	\$110,000.00	\$110,000.00	\$150,000.00	\$150,000.00	\$140,000.00	\$140,000.00
2	Temporary Protection and Direction of Traffic/Project Safety	L.S.	1	\$50,000.00	\$50,000.00	\$49,000.00	\$49,000.00	\$100,000.00	\$100,000.00	\$80,000.00	\$80,000.00
	Job Photos	Each	30	\$15.00	\$450.00	\$25.00	\$750.00	\$25.00	\$750.00	\$25.00	\$750.00
	Modifications, Chlorination, and Testing of Existing 16-inch polyvinyl chloride (PVC) Water Line	L.S.	1	\$30,000.00	\$30,000.00	\$13,600.00	\$13,600.00	\$35,000.00	\$35,000.00	\$15,000.00	\$15,000.00
	Regional Water System Water Treatment Plant Modifications	L.S.	1	\$200,000.00	\$200,000.00	\$609,000.00	\$609,000.00	\$460,400.00	\$460,400.00	\$630,000.00	\$630,000.00
6	Water Treatment Plant Existing Meter Vault Improvements	L.S.	1	\$35,000.00	\$35,000.00	\$36,726.00	\$36,726.00	\$70,000.00	\$70,000.00	\$25,500.00	\$25,500.00
7	Water Treatment Plant Production Meter Vault Improvements	L.S.	1	\$60,000.00	\$60,000.00	\$89,500.00	\$89,500.00	\$175,000.00	\$175,000.00	\$85,250.00	\$85,250.00
8	Erosion and Sediment Control	L.S.	1	\$20,000.00	\$20,000.00	\$8,000.00	\$8,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00
9	Removal of Structures and Obstructions	L.S.	1	\$25,000.00	\$25,000.00	\$55,000.00	\$55,000.00	\$100,000.00	\$100,000.00	\$55,000.00	\$55,000.00
Water L	ine										
10	16-inch PVC Water Line	L.F.	7,250	\$140.00	\$1,015,000.00	\$118.00	\$855,500.00	\$110.00	\$797,500.00	\$112.00	\$812,000.00
	16-inch Restrained Joint Ductile Iron (DI) Water Line	L.F.	40	\$250.00	\$10,000.00	\$381.00	\$15,240.00	\$700.00	\$28,000.00	\$440.00	\$17,600.00
12	12-inch DI Water Line	L.F.	1,850	\$130.00	\$240,500.00	\$93.60	\$173,160.00	\$90.00	\$166,500.00	\$90.00	\$166,500.00
13	8-inch DI Water Line	L.F.	25	\$150.00	\$3,750.00	\$80.00	\$2,000.00	\$140.00	\$3,500.00	\$140.00	\$3,500.00
14	18-inch Butterfly Valve	Each	1	\$6,000.00	\$6,000.00	\$5,445.00	\$5,445.00	\$5,200.00	\$5,200.00	\$5,200.00	\$5,200.00
15	16-inch Butterfly Valve	Each	8	\$4,500.00	\$36,000.00	\$4,722.00	\$37,776.00	\$4,200.00	\$33,600.00	\$4,000.00	\$32,000.00
16	12-inch Gate Valve	Each	7	\$3,000.00	\$21,000.00	\$4,034.00	\$28,238.00	\$3,400.00	\$23,800.00	\$4,000.00	\$28,000.00
17	8-inch Gate Valve	Each	1	\$2,500.00	\$2,500.00	\$2,119.00	\$2,119.00	\$2,000.00	\$2,000.00	\$2,250.00	\$2,250.00
18	Connection to Existing Water Line	Each	5	\$4,000.00	\$20,000.00	\$4,545.00	\$22,725.00	\$6,000.00	\$30,000.00	\$8,000.00	\$40,000.00
19	Fire Hydrant Assembly	Each	14	\$4,500.00	\$63,000.00	\$8,356.00	\$116,984.00	\$9,000.00	\$126,000.00	\$9,450.00	\$132,300.00
20	2-inch Combination Air Release Assembly	Each	3	\$5,000.00	\$15,000.00	\$6,143.00	\$18,429.00	\$8,000.00	\$24,000.00	\$11,000.00	\$33,000.00
21	Oregon Highway 207 Jack and Bore Crossing	L.S.	1	\$350,000.00	\$350,000.00	\$135,569.00	\$135,569.00	\$150,000.00	\$150,000.00	\$175,000.00	\$175,000.00
22	Feed Canal Crossing	L.S.	1	\$150,000.00	\$150,000.00	\$6,000.00	\$6,000.00	\$7,500.00	\$7,500.00	\$33,500.00	\$33,500.00
23	PDX 138 Valves and Meter Vault	L.S.	1	\$120,000.00	\$120,000.00	\$122,334.00	\$122,334.00	\$160,000.00	\$160,000.00	\$260,000.00	\$260,000.00
24	4-inch Water Meter Installation	Each	1	\$15,000.00	\$15,000.00	\$9,502.00	\$9,502.00	\$20,000.00	\$20,000.00	\$12,350.00	\$12,350.00
25	Disconnection from Existing Water Line	Each	1	\$2,000.00	\$2,000.00	\$1,064.00	\$1,064.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00

					BID TABUL	ATION						
ANDERSON PERRY & ASSOCIATES, INC.				PROJECT:	PROJECT: City of Hermiston, Oregon					City of Hermiston, Oregon		
243 E. N	AIN STREET, SUITE C			Regional Water System Improvements						180 N.E. 2nd Street		
HERMIS	STON, OREGON 97838				Phase 1 - 2023			Hermiston, Oregon 97838				
Bid Opening: November 29, 2022, at 11:00 a.m., at City of Hermiston BIDDERS												
City Hal	I, 180 N.E. 2nd Street, Hermiston, Oregon 978	38		Engineer'	s Estimate	Rotscl	hy, Inc.	Tapani, Inc.		Goodman & Mehlenbacher Enterprises, Inc.		
Item	Description	Unit	Amount	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
Sewer L												
26	8-inch PVC Gravity Sewer Line	L.F.	910	\$50.00	\$45,500.00	\$41.30	\$37,583.00	\$60.00	\$54,600.00	\$52.00	\$47,320.00	
27	Manhole	Each	3	\$5,000.00	\$15,000.00	\$3,500.00	\$10,500.00	\$6,500.00	\$19,500.00	\$3,500.00	\$10,500.00	
	4-inch Sewer Service Connection on Existing Sewer Line	Each	2	\$500.00	\$1,000.00	\$1,123.00	\$2,246.00	\$1,500.00	\$3,000.00	\$225.00	\$450.00	
29	Connection to Existing Manhole	Each	1	\$1,500.00	\$1,500.00	\$1,446.00	\$1,446.00	\$2,200.00	\$2,200.00	\$1,000.00	\$1,000.00	
30	4-inch PVC Sewer Service Line	L.F.	265	\$50.00	\$13,250.00	\$48.40	\$12,826.00	\$110.00	\$29,150.00	\$25.00	\$6,625.00	
Genera												
31	Asphalt Surface Restoration	S.Y.	3,250	\$80.00	\$260,000.00	\$30.00	\$97,500.00	\$80.00	\$260,000.00	\$75.00	\$243,750.00	
32	Gravel Surface Restoration	S.Y.	3,800	\$30.00	\$114,000.00	\$28.00	\$106,400.00	\$25.00	\$95,000.00	\$37.00	\$140,600.00	
33	General Surface Restoration	S.Y.	100	\$50.00	\$5,000.00	\$15.00	\$1,500.00	\$10.00	\$1,000.00	\$150.00	\$15,000.00	
34	Driveway Restoration	S.Y.	180	\$80.00	\$14,400.00	\$74.45	\$13,401.00	\$85.00	\$15,300.00	\$45.00	\$8,100.00	
35	Hydroseed Restoration	S.Y.	1,000	\$30.00	\$30,000.00	\$1.75	\$1,750.00	\$2.00	\$2,000.00	\$4.50	\$4,500.00	
		TOTAL	BID PRICE		\$3,129,850.00		\$2,808,813.00		\$3,167,000.00		\$3,274,545.00 *	
	* Indicates rounding or math error.									Total Bid:	\$3,284,545.00	

BID TABULATION											
243 E. I	SON PERRY & ASSOCIATES, INC. MAIN STREET, SUITE C STON, OREGON 97838	PROJECT:	City of Hermist Regional Wate Phase 1 - 2023	r System Impro	OWNER:	City of Hermiston, Oregon 180 N.E. 2nd Street Hermiston, Oregon 97838					
Bid Ope	ening: November 29, 2022, at 11:00 a.m., at C	ity of H	ermiston				BIDD	DERS			
City Hal	I, 180 N.E. 2nd Street, Hermiston, Oregon 978	338		Engineer's	s Estimate	DelHur Ind	ustries, Inc.	Silver Creek C	ontracting, LLC	R&G Exca	vating, Inc.
Item	Description	Unit	Amount	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Mobilization/Demobilization (not to exceed 5% of Total Bid Price)	L.S.	1	\$140,000.00	\$140,000.00	\$150,849.05	\$150,849.05	\$150,122.10	\$150,122.10	\$143,200.00	\$143,200.00
2	Temporary Protection and Direction of Traffic/Project Safety	L.S.	1	\$50,000.00	\$50,000.00	\$66,562.92	\$66,562.92	\$75,427.50	\$75,427.50	\$128,000.00	\$128,000.00
3	Job Photos	Each	30	\$15.00	\$450.00	\$25.00	\$750.00	\$25.00	\$750.00	\$25.00	\$750.00
	Modifications, Chlorination, and Testing of Existing 16-inch polyvinyl chloride (PVC) Water Line	L.S.	1	\$30,000.00	\$30,000.00	\$17,196.41	\$17,196.41	\$85,025.69	\$85,025.69	\$18,000.00	\$18,000.00
	Regional Water System Water Treatment Plant Modifications	L.S.	1	\$200,000.00	\$200,000.00	\$592,570.63	\$592,570.63	\$518,713.44	\$518,713.44	\$844,220.00	\$844,220.00
6	Water Treatment Plant Existing Meter Vault Improvements	L.S.	1	\$35,000.00	\$35,000.00	\$38,471.50	\$38,471.50	\$47,857.54	\$47,857.54	\$23,000.00	\$23,000.00
7	Water Treatment Plant Production Meter Vault Improvements	L.S.	1	\$60,000.00	\$60,000.00	\$153,917.30	\$153,917.30	\$105,851.52	\$105,851.52	\$60,000.00	\$60,000.00
8	Erosion and Sediment Control	L.S.	1	\$20,000.00	\$20,000.00	\$49,192.56	\$49,192.56	\$15,204.17	\$15,204.17	\$20,700.00	\$20,700.00
9	Removal of Structures and Obstructions	L.S.	1	\$25,000.00	\$25,000.00	\$39,650.65	\$39,650.65	\$76,583.09	\$76,583.09	\$3,000.00	\$3,000.00
Water L	ine										
10	16-inch PVC Water Line	L.F.	7,250	\$140.00	\$1,015,000.00	\$129.38	\$938,005.00	\$130.23	\$944,167.50	\$150.00	\$1,087,500.00 *
11	16-inch Restrained Joint Ductile Iron (DI) Water Line	L.F.	40	\$250.00	\$10,000.00	\$314.47	\$12,578.80	\$349.60	\$13,984.00	\$700.00	\$28,000.00
12	12-inch DI Water Line	L.F.	1,850	\$130.00	\$240,500.00	\$93.96	\$173,826.00	\$87.60	\$162,060.00	\$105.00	\$194,250.00
13	8-inch DI Water Line	L.F.	25	\$150.00	\$3,750.00	\$114.66	\$2,866.50	\$123.00	\$3,075.00	\$103.00	\$2,575.00
14	18-inch Butterfly Valve	Each	1	\$6,000.00	\$6,000.00	\$6,146.66	\$6,146.66	\$6,601.48	\$6,601.48	\$7,000.00	\$7,000.00
15	16-inch Butterfly Valve	Each	8	\$4,500.00	\$36,000.00	\$5,152.01	\$41,216.08	\$5,759.84	\$46,078.72	\$5,600.00	\$44,800.00
16	12-inch Gate Valve	Each	7	\$3,000.00	\$21,000.00	\$4,475.69	\$31,329.83	\$5,000.58	\$35,004.06	\$5,600.00	\$39,200.00
17	8-inch Gate Valve	Each	1	\$2,500.00	\$2,500.00	\$2,875.48	\$2,875.48	\$3,475.09	\$3,475.09	\$4,400.00	\$4,400.00
18	Connection to Existing Water Line	Each	5	\$4,000.00	\$20,000.00	\$6,021.42	\$30,107.10	\$5,691.04	\$28,455.20	\$13,500.00	\$67,500.00
19	Fire Hydrant Assembly	Each	14	\$4,500.00	\$63,000.00	\$13,214.46	\$185,002.44	\$12,784.03	\$178,976.42	\$9,600.00	\$134,400.00
20	2-inch Combination Air Release Assembly	Each	3	\$5,000.00	\$15,000.00	\$14,762.09	\$44,286.27	\$10,403.73	\$31,211.19	\$11,500.00	\$34,500.00
21	Oregon Highway 207 Jack and Bore	L.S.	1	\$350,000.00	\$350,000.00	\$177,334.44	\$177,334.44	\$242,880.05	\$242,880.05	\$179,000.00	\$179,000.00
22	Feed Canal Crossing	L.S.	1	\$150,000.00	\$150,000.00	\$35,999.74	\$35,999.74	\$31,556.58	\$31,556.58	\$19,700.00	\$19,700.00
23	PDX 138 Valves and Meter Vault	L.S.	1	\$120,000.00	\$120,000.00	\$204,674.82	\$204,674.82	\$270,856.51	\$270,856.51	\$148,500.00	\$148,500.00
24	4-inch Water Meter Installation	Each	1	\$15,000.00	\$15,000.00	\$13,168.93	\$13,168.93	\$19,065.23	\$19,065.23	\$21,500.00	\$21,500.00
25	Disconnection from Existing Water Line	Each	1	\$2,000.00	\$2,000.00	\$4,298.52	\$4,298.52	\$6,985.88	\$6,985.88	\$1,500.00	\$1,500.00

					BID TABUL	ATION						
ANDERSON PERRY & ASSOCIATES, INC.				PROJECT:	PROJECT: City of Hermiston, Oregon					City of Hermiston, Oregon		
243 E. N	MAIN STREET, SUITE C				Regional Water System Improvements					180 N.E. 2nd Street		
HERMIS	STON, OREGON 97838				Phase 1 - 2023					Hermiston, Oregon 97838		
Bid Opening: November 29, 2022, at 11:00 a.m., at City of Hermiston BIDDERS												
City Hal	I, 180 N.E. 2nd Street, Hermiston, Oregon 978	338		Engineer'	s Estimate	DelHur Ind	ustries, Inc.	Silver Creek Contracting, LLC		R&G Excavating, Inc.		
Item	Description	Unit	Amount	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
Sewer L	_ine											
26	8-inch PVC Gravity Sewer Line	L.F.	910	\$50.00	\$45,500.00	\$64.95	\$59,104.50	\$80.85	\$73,573.50	\$80.00	\$72,800.00	
27	Manhole	Each	3	\$5,000.00	\$15,000.00	\$11,361.34	\$34,084.02	\$5,287.02	\$15,861.06	\$8,000.00	\$24,000.00	
	4-inch Sewer Service Connection on Existing Sewer Line	Each	2	\$500.00	\$1,000.00	\$4,235.64	\$8,471.28	\$2,267.56	\$4,535.12	\$100.00	\$200.00	
29	Connection to Existing Manhole	Each	1	\$1,500.00	\$1,500.00	\$7,732.36	\$7,732.36	\$2,914.15	\$2,914.15	\$3,350.00	\$3,350.00	
30	4-inch PVC Sewer Service Line	L.F.	265	\$50.00	\$13,250.00	\$282.37	\$74,828.05	\$81.29	\$21,541.85	\$73.00	\$19,345.00	
Genera												
31	Asphalt Surface Restoration	S.Y.	3,250	\$80.00	\$260,000.00	\$64.46	\$209,495.00	\$62.93	\$204,522.50	\$58.00	\$188,500.00	
32	Gravel Surface Restoration	S.Y.	3,800	\$30.00	\$114,000.00	\$15.36	\$58,368.00	\$17.46	\$66,348.00	\$19.00	\$72,200.00	
33	General Surface Restoration	S.Y.	100	\$50.00	\$5,000.00	\$35.38	\$3,538.00	\$8.28	\$828.00	\$10.00	\$1,000.00	
34	Driveway Restoration	S.Y.	180	\$80.00	\$14,400.00	\$65.99	\$11,878.20	\$41.05	\$7,389.00	\$35.00	\$6,300.00	
35	Hydroseed Restoration	S.Y.	1,000	\$30.00	\$30,000.00	\$1.79	\$1,790.00	\$2.01	\$2,010.00	\$2.00	\$2,000.00	
		TOTAL	BID PRICE		\$3,129,850.00		\$3,482,167.04		\$3,499,491.14		\$3,644,890.00 *	
	* Indicates rounding or math error.									Total Bid:	\$3,637,390.00	